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PART A
GENERAL ENGLISH
In the following questions four 4.  One could tell by his cheerfulness and
alternatives are given for idioms/ politeness that he was trying to MEND
phrases in Capital. Choose the one HIS FENCES
whif:h. best express'es th.e meax.linlg of (@) Make peace with a person
the idiom/phrase given in Capital. () Removing fences lying in his way
It is foolish to SPLIT HAIRS over this (¢)  Creating problems for others
issue as it is difficult to arrive at a (d)  Showing undue importance
conclusion whether the door is half-open
[Etal Seee 5. Aryabhatta was BY LONG ODDS the
(a) Raise hair in blowing wind greatest astronomer and mathematician
(b) Make petty distinctions (a) By an odd change
(¢)  Argue at a loud voice (b)  Most decidedly
) (¢) Presumably
(d Show undue importance @y . .Natuzally
. . Choose the word closest in meaning
We should not waste, time n to the given word, from among the
unnecessary arguments. It is wisely said options :
that one should MAKE HAY WHILE
THE SUN SHINES. 6. FLOUT
(@) Cut grass during the day (@) Condemn
‘(b) Boat about one’s achievements (b)  Disregard
) (¢)  Respect
(¢) Chow false vanity @ Refuse
(d) Take advantage of the opportunity
7. FORSAKE
The Government has rightly HIT THE (a) Separate
NAIL ON THE HEAD by coming down (b) Abandon
heavily on the black-marketeers, with (¢) Forgo
the result that prices have started (d Disintegrate
coming down
(a) ‘To beat mercilessly 8. ENCROACH
(b) To manipulate somehow (a) Approach
(¢)  To touch the exact point (b) Intrude
(d) To move with the time (c)  Destroy
(d) Damage

ICRB - JPA/Steno/Assistant-2016
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10.

11.

Fill in the blank with an appropriate,

word chosen from the given
alternatives :

IwishI sing as well as you
do.

(a) can

(b) could

(¢ do

(d) did

A legislation was passed to punish

broker who their client’s

funds.

(a) defalcate
(b) devastate
(¢) devour

(d) embezzle

Rain has normal life of

citizens in Mumbai.
(a) sunk

(b) showered

(¢) struck

(d) Dbattered

ICRB - JPA/Steno/Assistant-2016

12.

- 18.

14.

15.

In the following questions some
parts of the sentences have errors
and some are correct. Find out
which part of a sentence (a), (b), (c)
has an error. If a sentence is free

from error, then (d) is your answer.

I want to get (a) /a M.A. degree (b)/ from
a reputed university located in India. (c)/

No error (d)

The Government will soon make (a)/ it
mandatory for all private hospitals (b)/ to
notify infectious cases as soon as they

are detected. (c)/ No error (d)

The process of revising figures of damage (a)/
to get additional compensation (b)/
has began. (c)/No error (d)

In the following questions, choose
the alternative opposite in meaning

of the given words :

Virtue
(a) Vice
(b) Quality

(¢) Wickedness

(d) Crime
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16. Crum
()
(b)
(©
(@)

ble
Collapse
Grind
Tumble
Build

17. Volatility

(a)
(b)
(c)
(d)

Optimism
Disparity
Inactivity
Stable

18. Momentary

(a)
(b)
(c)
(d)

Choo

Sporadic
Futuristic
Lasting

Homogeneous

se the wrongly spelt word from

the following :

19. (a)
(b)
(©
(@

20. (a)
(b)
(©
(d)

Abate
Bewilder
Allure

Benevelance

Parliament
Woolen
Beginning

Secretariate
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21.

22.

23.

(a)
(b)
©)
(d)

Affidavit
Allegeory
Aesthetics

Alibi

Change the following sentences into

indirect speech :

He said to the judge, “I did not commit

this crime.”

(a) He told the judge that he did not
commit the crime

(b) He told the judge that he had not
committed the crime

(c) He told the judge that he had not
committed that crime

(d) He told the judge that he had not

committed this crime

She said, “I go for a walk every evening.”

(a)

(b)

©

(d)

She said that she went for a walk

every evening

She said that she goes for a walk

every evening

She says she goes for a walk every

evening

She said that she will go for a walk

every evening
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A

GENERAL KNOWLEDGE / §THT {14

24. The Kakrapar atomic power station is

25.

26.

27.

located in which of the following state?

(a)
(b)
©
(d)

Rajasthan
Gujarat
Maharashtra

Karnataka

Who is the first Indian classical musician
to perform at United Nations?

(a) Pt. Bhimsen Joshi
(b)
(©)

CY

Pt. Jasraj
Ustad Jakir Hussain
M.S. Subbulakshmi

Google’s computer programme AlphaGo is
related to which of the following?

(a)
(b)
(©
(d)

Search Engine algorithms
A board game of China
Music and Media search

Live video streaming

The world’s tallest Jain statue is located in
which state of India?

(a) Maharashtra
(b)
(c)

(d

Gujarat
Karnataka

Uttar Pradesh

ICRB - JPA/Steno/Assistant-2016
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24.

25.

26.

27.

freferfaa fora Toar & weRaqR sy, forga
wyA fera 77

ST

TSR
HENg
FAleh

(a)
(b)
()
(d)

I8 I J99 IR e @iflag § fee 9gw
Tl A et fern?

ufeq s sireft

BIEGISENE]

IS SR g

TH.TH. GogaaHt

(a)
(b)
(c)
(d)

fafafea & @ fFe@, T SR wom
3R M (AlphaGo) Gsiftra 87 ‘

(a)
(b)
()
(d)

Search Engine algorithms
A board game of China
Music and Media search

Live video streaming

R % T o 8, fova o we@ e 9 qfd
fear?

(a)
(b)
(c)
(d)

HENIR

TSI
Fleen

I IR
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28. Which of the following is a non-renewable
resource?

(a) Solar energy
(b) Coal

(¢ Water

(d) Fisheries

29. The first railway line was constructed
during the rule of

(a) Lord Dalhousie
(b) Lord Cornwallis
(¢) Warren Hastings
(d) Lord Bentinck

30. The fundamental object of panchayati raj
system is to ensure which among the
following.

(a) People’s participation in development
(b) Political accountability
(¢) Democratic decentralisation

(d) Finance mobilisation

31. India’s first private green field airport has
recently commenced commercial operations
at
(a) Thirupathi, Andhra Pradesh

(b) Kochi, Kerala
(¢) Rajkot, Gujarat
(d) Durgapur, West Bengal

32. Which state launched “Dial 100” scheme
for better handling of crimes in the state?

(a) Maharashtra

(b) Madhya Pradesh
(¢) Uttar Pradesh
(d) Gujarat

ICRB - JPA/Steno/Assistant-2016 |

28.

29.

30.

31.

32.

fafafes & @ 9 @ O (non-
renewable) GTEF &7

(a) HREFHat

(b)  =rl

(O

(d) = &7 (Fisheries)

I (e AR * e |
fafifa gom

(a) e SRS

(b) <TE FHaTE

(© RERfRw

@ <SR

TRyt Tt Soedt s wferes e, fefofaa d @
foraent gifra T 87

(a) STfer & VI T WOT AT
(b) TSAfIH IuERE
ORRGIESIECACC eIV

(@ o nfcefieran

R & Jo9 el ga & gars uo 3, g €
T TR ATRIE oy femam
(a) fowufa, g wew

(b) wf, e

(0 USHhIE, TSR

(d) R, gfvem sma

fFa TsT A “g¥A 100”7 ASAT H URW, TT |
JTYTY hl ST TrETe o fore feran?

(a) WEWY

(b) W I

(¢ SWIRW

(d) TR«
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A

33.

34.

35.

36.

317.

Which Ministry has recently launched new
“Make in India Website”?

(a)
(b)
()

(d)

Ministry of Defence

Ministry of Finance

Ministry of HRD

Ministry of Urban Development

The Government has decided to withdraw
the benefit of LPG subsidy for LPG
Consumers, self of spouse having taxable
income of more than during
the previous financial year.

(a) Rs.5 Lakhs
(b) Rs. 8 Lakhs
(¢) Rs. 10 Lakhs
(d Rs. 12 Lakhs

If Shah Jahan built the Tajmahal, what
did Hamida Banu Begum built

(a)
(b)
©
(d)

Gol Gumbaz
Diwan-i-khas
Victoria Memorial

Humayun’s Tomb

The word secular was inserted into the
Constitution of India by

()
(b)
(c)
(d)

44th gmendment act
52rd gmendment act
42rd gmendment act

34th gmendment act

How many squares are there in a Chess
Board?

(a)
(b)
(©
(d)
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33.

34.

35.

36.

317.

fFg e ¥ g @ H “Make in India
Website” st IR feram?

(a)
(b)
(©
(d)

&R 4 LPG I9Hm=, @ a1 It fSaeht o
ATk HeH! g foftar o o dRe

q e &, IR LPG 11ffeh Tgmrar QA1 Ay
fepam|

T TATE

fora waTer

HRD #ae™

TR TR BT AT

(a) bHAIIIY

(b) 8H@IIT

(c) 10 &I

(@ 1291w

Ife YTESEH 3 dISHEd SHETET, A gIiE §1g oW

3 : Eecioll

(a) Iﬁagm

(b) fRem-t-wwm

() Tawifen @

(d) FHRL T AR

g d@faue 8, wifdy qme s A
T S fomam T

(a) 44" weiem atfifEm

() 52" wviem srffem

(© 42" aehem srfrfrm

d) 34" Geiem AfiFEm

T Sg2 sie | fhaq i Bl &7

(a) 36

() 48

(c) 64

@ 172
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A

38.

39.

40.

41.

42.

How many spokes are there in the Chakra
of the Indian National Flag?

(a) 20
() 24
¢ 32
(d) None of these

The function of haemoglobin in the body is

(a) Transport of oxygen
(b) Destruction of bacteria
(¢c) Prevention of anemia

Utilisation of iron

(d)

The first Indira Gandhi Award for
International Justice and Harmony has
been given to

(a) Larry Pressler

(b) Amnesty International
(¢) Hussain Ibrahim Zaki
(d) Yasser Arafat

The absorption of ink by blotting paper
involves

(a)
(b)

(©
(d)

Viscosity of ink
Capillary action phenomenon
Diffusion of ink through the blotting

Siphon action

Ozone hole refers to

(a)
(b)

Hole in ozone layer

Decrease in the ozone layer in

troposphere

Decrease in the thickness of ozone
layer in stratosphere

()

Increase in the thickness of ozone
layer in troposphere

(d)

ICRB - JPA/Steno/Assistant-2016
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38.

39.

40.

41.

42.

(b)

ﬂm@'ﬂ'ﬂ@%ﬂ?ﬁ%ﬂﬁ 3R (spokes) Bl
4
(a)

(b)
(c) 32

) THARE T

TR H o =1 e ®
(a) STUrETy T IREEA
() FhEr  fmm
(c) it (whdiar) it Jeham
(d) e e I ITAN

20
24

AP = IR qo= % fore wom 3f={q weeht
R 1 oz mm)|

()
(b)
(©
(d)

A IR
TARY 3T
T alTfew STht

JrEL AR

e %P (blotting paper) TR WM&

gre |
(a) @& 1 fufemmee
hifRTenT fsram qe

@A g | ot forr
Qe T

i R

(©)
(d)

NS B gferd ar @
(@) NS W H B H
(b) &wvee § SIS WA frFH

THATTIUSH | S T o W o st Y
FTUEE # TSI Td & Wier & gig

(©
(d)
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43. Who has been awarded the 63 Dadasaheb | 43. 63" ararETRe e quehr R fean mn?
Phalke Award?
(a) Dilip Kumar (a) Tefem $HAR
(b) Manoj Kumar (b) TS PAR
(¢) Pran (¢) I
(d) Shashi Kapoor (d) vRTHFR
44. Which of the following is not a | 44. Fmfufed # & #=-w, wra o gaunfie wiel
constitutional body in India? Te?
(a) Staff Selection Commission (a) WT% YA TR
(b) Central Vigilance Commission (b) e SR TR
(¢ Law Commission of India (c)  WTTd ol I TN
(d) NITI Aayog (@ i emi
45. The Master Control facility, responsible for | 45. ISRO g 1 S T S B | LA
mo(;litoring ﬁnd controtlh'ur;% g(i:ostat}ilorcllall;y (geostationary) 10 %{\—Wﬁ‘m"
and geosynchronous satellites launche ‘ :
ISR(%, is {:cate din 4 (geosynchronous) Sl & for 3R A
FA H STCNER, AL wold BRI
7 R 1
(a) Ladakh, Jammu and Kashmir (a) <@, G{tgamtﬁ*{
(b) Hassan, Karnataka (b) T, FHiceh
(¢ Bengaluru, Karnataka (©) %?IFE@, ETircd
(d) Sriharikota, Andhra Pradesh @) shehener, IFg e
46. Pradhan Mantri Jan-Dhan Yojana was | 46. wRa H, SeFH SH-EH-ASHT S RIATT
launched in India on ﬁ§§l
(a) 26th January, 2015 (a) 26%Had, 2015
(b) 28tk August, 2014 (b) 28 37T, 2014
(c) 5th September, 2014 (c) 5 framr 2014
(d) 8t December, 2014 (d) 8fmmr2014
ICRB - JPA/Steno/Assistant-2016 10
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ARITHMETIC / 3{RTTorq

What should come in the place of
question mark (?) in the following two
questions?

47. 4+4.44+44.4+4.04+ 444 ="
(a) 500.88
(b) 572.2
) 495.22
(d) 472.88

48. 4500 x ? = 3375

@ 2
® 2
© 5
@ 2

49. The base ratio of two cylinders are in the
ratio 2 : 3 and their heights are in the ratio
5 : 3. The ratio of their volumes is

“(a) «:27: 20
M) 20:27
0 9:4
@ 4:9

50. ABCDEF is a regular hexagon of side
2 feet. The area, in square feet, of the
rectangle BCEF is :

(a) 8

b) 4+443
¢ 4

@ 443
ICRB - JPA/Steno/Assistant-2016
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47.

48.

49.

50.

frfafaa @ weat &, yw g () F
T AT ATRT?

4+ 444+ 444+ 4.04 + 444 =2
(a) 500.88

(b) 572.2

() 495.22

d) 472.88

4500 x ? = 3375

@ =
® 2
© 5
@ 2

Q Sl T YW U 2: 3R 3N I T
ITIATA 5 : 3 ]| IR HIAT (ST ) T ST &
(8) 27:20

(b) 20:27

© 9:4

d 4:9

ABCDEF, T 21 vyl & foraeht wah ua 2 hie
21 BCEF 371 o1 e $i2 3 Sthet 8

(a) 8

b) 4+443

0 4

@ 4438
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51. Seventh of a number is 51. What will be | 51. U G@Eam i Arae &A1 § 51. 3H T 6 64%

52.

53.

54.

64% of that number?

(a)
(b)
(c)
(d)

248.12
228.48
238.24
198.36

If the average of 10% of a number, 25% of
that number, 50% of that number and 75%
of that number is 24 then the number will be

50
60
70
80

(a)
(b)
()
(d

Mohit and Nitish start walking towards each
other at 4 AM at the speed of 5 kmph and
3 kmph respectively. They were initially
28 km apart. At what time do they meet?

8 AM

5.30 AM
6.30 AM
7.30 AM

(a)
(b)
©
(d)

The area of the largest circle that can be
drawn inside a square of side 28 cm is

(2)
(b)
(c)
(d)

55.

17248 cm?
784 cm?
8624 cm?
616 cm?

In a rally of 256 students, boys and girls

are in the ratio 9 : 7. Find the number of

girls.

(a)
(b)
(©
(d)

120
114
112
115

ICRB - JPA/Steno/Assistant-2016
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52.

53.

54.

55.

T 8IT?

(a) 248.12
(b) 228.48
() 238.24
(d 198.36

gfe forelt w3 10% ®, 39 &A1 H
25% ®, 39 WA H 50% & M W & H
75%, 24 & @ 98 G&A1 BFfY

(a)
(b)
(c)
(d)

w3 Frefler Tk @t <t 3, Gorg 4 7
5 for.oft. witr wer ofit 3 froft. wia w2 i fa @
o 81 IR § 3 Th g @ 28 Tl He g A
3 AT forer wwe e g @ et ?

(a)
(b)
©
(d)

28 YA 3 981 o Teh 1 o 31T, Wi et
o 1S I T FTHA &

(a) 17248 cm?

(b) 784 cm?

(¢) 8624 cm?

(d) 616cm?

256 BE! % Teh SHEE H, TS IR TSR 1
U 9 : 7 | ASTHAT S T AT Y

50
60
70
80

8 AM

5.30 AM
6.30 AM
7.30 AM

120
114
112
115

(a)
(b)
()
(d)
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A

56

57.

58.

59.

60.

. A contractor completed 5/9t» of a work

before a second contractor completed an
additional 1/3d. What fraction of the work
is left undone?

(a) 1/9%
(b) 4/9th
() 2/3r
(d) 8/9%

Which is the largest 4 digit number exactly
divisible by 78?

(a) 9944
(b) 9999
(c) 9988
(d) 9984

The H.C.F of two numbers is 23 and the
other two factors of their L.C.M are 13 and
14. The larger of the two numbers is

(a) 276

(b) 299

(c) 322

(d) 345

What will be the least number which when
doubled will be exactly divisible by 12, 18,
21 and 30?

(a) 196
(b) 630
(© 1260
d) 2520

In a camp, there is a meal for 120 men or
200 children. If 150 children have taken
the meal, how many men will be catered-to
with remaining meal?

(a) 20
() 30
(cp 40
(d 50

ICRB - JPA/Steno/Assistant-2016

56. U hgraed (SHhaAR) 1 AT 5/9 VAT, Th 374

57.

58.

59.

60.

d%aR % Afafes #E F 1/3 o & of 9 @
e, ST Tl QU fehaT| e ot feker firr arquf
Tw@I?

(a) 1/9th

(b)  4/9th

() 2/3

(d) 8/9th

4 37! <hl Tod < T S 78 i St R,
w7

(a) 9944

(b) 9999

(¢) 9988
(d) 9984

@ et w1 H.C.F 23 ® 3R 3% L.CM &
AT 13 3R 14 {1 AR FEImei A A w1 R

(a) 276
(b) 299
() 322
(d 345

€ N H T B T § R, st g R
ST 12, 18, 21 3R 30 & fanrfoa St 87

(a) 196
(b) 630
© 1260
d 2520

T g U, 120 AEH A1 200 S F fA€ @
IqSTeY B AR 150 S=Al I @HT @R, A S1eh s
G foraa smefEt 3 @rn?

(a) 20
(b 30
(c) 40
d) 50
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61.

62.

63.

64.

65.

A towel, when bleached, was found to have
lost 20% of its length and 10% of its
breadth. The percentage of decrease in
area is

(a) 10%
(b) 10.08%
© 20%
d) 28%

An accurate clock shows 8 o'clock in the
morning. Through how many degrees will
the hour hand rotate when the clock shows
2 o'clock in the afternoon?

@) 144°
(b) 150°
) 168°
d) 180°

How many numbers exist between 100 and
1000 which are divisible by 7?

(a) 148
(b) 138
(¢ 60

d 128

Insert the missing mathematical signs in
the problem 5 3 6 = 21

(@ x+

(b) +’ =

(C) ) +

(d) X, —

In a flight of 600 km, an aircraft was
slowed down due to bad weather. Its
average speed for the trip was reduced by

200 km/hr and the time of flight increased
by 30 minutes. The duration of the flight is

(@) 1hour

(b) 2 hours
(¢) 3 hours
(d) 4 hours

ICRB - JPA/Steno/Assistant-2016
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61.

62.

63.

64.

65.

T difere st forfora fora mam fodsm & swta a7
I T foh W TR T 20% HIH g 3R
IGht SSTS T 10% THIH §aTT| T & & kel b
BITNGE

(a) 10%

(b) 10.08%

() 20%

d 28%

T RS U, wia: 8 9 fewrd §1 s ud,
AT & 2 T @ @ O 5 i gé fora ferht
oi?

(a) 144°

(b) 150°

(c) 168°

(d 180°

100 3R 1000 % sfi= foreht dward 7 & i
B &7

(a) 148

(b) 138

(c) 60

(d 128

5 3 6 = 21 % qu T fre i gy AR

(@ x+
(b) +’ s
(C) ™ +
(d) X, —

600 for.Ht. fit Iz &, U T TN A T
Hraw 3 s et foran | 3w Ru % ohtwa nify
&t 200 6.4, /9 = wrern T o 3o & wHy
I 30 fire s T | IS I Fed wEA @

(@) 19

(b) 2%

(¢ 3%

@ 4%



67.

68.

69.
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value of y when x =24

(a) 60
(b) 45
(c) 54
d 96

The angle of elevation of a ladder leaning
against a wall is 60° and the foot of the
ladder is 4.6 m away from the wall. The
length of the ladder is

(a 23m
(b) 46m
(¢ 7.8m
d 92m

A takes twice as much time as B or thrice
as much as C to finish a piece of work.
Working together, they can finish the work
in 2 days. B can do the work alone in

(a) 4days
(b) 6 days
(c) 8days
(d) 12 days

When a plot is sold for Rs. 18,700, the
owner loses 15%. At what price must that
plot be sold in order to gain 15%?

(a) Rs..21,000
(b) Rs. 22,500
(¢) Rs. 25,300
(d) Rs. 25,800

15

67.

68.

69.

~f.. INDIAN SPACE RESEARCH ORGANISATION SET
suitlizre [WRITTEN TEST FOR RECRUITMENT TO THE POST OF JUNIOR
PERSONAL ASSISTANT/STENOGRAPHER/ASSISTANT - 2016 A
66. If y<x and y=0 when n=16, find the | 66. IR y<x B3N y=0 8,99 n=16 &, O 9«

x=24 ¥ y e GaT ST

(a) 60

(b) 45
(c) 54
(d) 96

AR @ T T i F Iea™ w1 R0 60° R 3R
€It 1 e R | 4.6 m gl W F| W A
TS ®

(a 23m
(b) 46m
¢ 78m
d 92m

T Rl HA F, A%, B A AT EHT AT, A
‘C’ A 19 T T AT 1 WY A A §Y, A 3
& ! 2 o # qu R geRa €1 ‘B’ a1aher 39
@l A s T )

(a) 4f@
(b) 6f
() 8f&=
@ 12fF

T @S H 18,700@1113%3%#({@1113%
15% T I 92| 16% o 9 % forg 3@
TS S foha QT TR SreET w1fRY?

(a) 21,000%.
(b) 22,5007%.
(© 25,300%.
(d) 25,800%.
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REASONING / fo@d==
70. If FRIEND is coded as HUMJTK, how can | 70. afé ws sie #§ FRIEND &I HUMJTK frar
CANDLE be written in that code? ST & ) 36 e ¥ CANDLE #t 38 frar s
Thara?
(a) DEQJQM (a) DEQJQM
(b) DCQHQK (b) DCQHQK
(c0 EDRIRL (¢0 EDRIRL
(d) ESJFME (d ESJFME
71. If ZEBRA can be written as 2652181. How | 71. 3af¢ ZEBRA # 2652181 & foran s gekar 2,
can COBRA be written? @ COBRA 9! 3 Rrar st gsar 27
(a) 302181 (a) 302181
(b) 3152181 (b) 3152181
(¢) 31822151 (¢) 31822151
(d) 1182153 (d 1182153
72. Find the odd one out : 72. foew 1 var SmEY
(a) Vapour (a) 9™
() Mist (b) T
(c) Hailstone (c) 3 -ﬁﬁ
(d) Fog d o
In the following question, various iy o, SeATer Y Aot & %S od |
terms of an alphabet series are given 3 o W R (2) A RErmm ) A
with one or more terms missing as R i
shown by (?). Choose the missing LR mzﬁaﬁ gi Tl
terms out of the given alternatives.
73. EJO, TYD, INS, XCH, ?
73. EJO, TYD, INS, XCH, ?
(a) NRW (a) NRW
(b) MRW (b) MRW
(¢ MSX (¢ MSX
(d) NSX (d NSX
ICRB - JPA/Steno/Assistant-2016 16
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74.

75.

In the following question, which one
of the given responses would be a

meaningful order of the following

words :

1. Act

2.  Listen
3.  Analyze
4.  Observe
5. Judge

(8 3,1,4,52
(b) 423,51
© 541,32

d 1,54,23

I am facing East. I turn 100 degrees in the
clockwise direction and then 145 degrees in

the anti-clockwise direction. Which

direction am I facing now?

(a) East

(b) North East

(¢) North

(d) South West

ICRB - JPA/Steno/Assistant-2016
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74.

75.

Frafafaa wea #, wegl Y w-d gfafwan
g 87

1. fom

2. GA/Haw
3. fomciwor

4. QA
5. =i

(8 3,1,4,5,2
(b) 423,51
© 54,132

d 1,5,4,23

& et wer 5| # vt feen & 100 feft e §
3R ot o foradiar fawm & 145 feft gwan §) o &
o T oft 7R erfing §7

@ q

(b) SW-gd

() W

(d) sfeorufsem
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76. In a total population of 70, If 20 drink milk | 76. 70 i Ha SFEwE H, AR 20, EA IR T B,
and tea, 35 drink milk, then select the 35 fA S Q@ fEm o g
correct Venn diagram that shows 3 - ﬁ’ -

(1) How many drink only milk? (1) Haa g9 i et foha @ €2

(2) How many drink only tea? (2) had = diHaTe T T 82
Answer the question based on the frafeRea & smar w ywat &1 3w difv:
following :

. (6» (a) (9)

77. If in each number, first and the last digit | 77. 3afe s T&n ﬁ, o 3 3ifow 37 Y Irgern
are interchanged, which one of the Faeht &Y s, Prefiiad § @ g [ &I
following will be the lowest number? ’

H- afi?
(a) 862 (a) 862
(b) 918 (b) 918
(c) 826 (c) 826
d) 928 d 928
ICRB - JPA/Steno/Assistant-2016 18
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78. Yard is to inch as quart is to 78. & YR (Yard) ™™ & foq 31 @ &t y&R
(quart)fog—— 2
(a) Gallon (a) WNem
(b) Ounce (b) =
(¢) Milk () T
(d) Liquid (@ @«

79. Which word does NOT belong with the | 79. g 3eq &1 3= Yol & TaYg AT 87
others?

(a) Cornea (a) TE=BHUSH
() Retina b) gftves

(¢) Pupil () T

(d) . Vision @ 3B

80. P is the mother of K; K is the sister of D; | 80. ‘P, K&t urar 8; ‘K, D M 7@ §; ‘D, J &
D is the father of J. How is P related to J? TR P 1 J O Far R 27
(a) Mother (a) T
(b) Grandmother (b) /A
(¢) Aunt (c) ==t
(d) Datainadequate (d) 3oty STHER

81. Find out which of the figures from (a), (b), | 81. & (x) # Ry 7w gl (a), (b), (¢) 3 (d) @
(c) and (d) can be formed from the pieces fpam o T o1 TR 7
given in figure (x)

V DDl T VI
Vo Vo 0y
() () () © @ () () () © @)

82. How many meaningful English words can | 82. ENAL 7 31Sit 3181 & Tk &R T ITANT TH
be made with the letters ENAL using each o o ¥ae T TR e H%fg?ﬁ I8 ST
letter only once in each word? - "

ST Ghd &7
(@ One (a) T
(b) Two ®) @
(¢) Three () =
(d Four (d =R

ICRB - JPA/Steno/Assistant-2016
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COMPUTER LITERACY / h ¥ H1&{dr
83. is the most popular | 83. W@SE’@ZSI@W[%I
Internet activity.
(a) Art (a) el
(b) Shopping (b) TEd
(¢ Searching (© &
(d) Communicator (d) fuvfier
84. Which of the following is not an example of | 84. fr=faftga # @ HT-a1 ATRET Yot 1 IR
an operating system? T R?
(a) Windows 10 () TR 10
(b) BSD Unix (b) BSD g
(¢©) Microsoft Office XP (c) TR AT XP
(d Ret hat Linux (d) T A
85. What does a green wavy line under a word | 85. ﬁ‘sﬁ{ﬁ%ﬂﬁﬁ, @Wﬁ@mm@ﬁﬁ
or phrase in the document mean in F N et oret var o e 7 27
Microsoft Word?
(@) The word or phrase might be (a) 158 1 It Y 7T T Bt
misspelled
(b) The word or phrase might contain a (b) 1S3 AT S W TSRO Bt
grammatical error
(¢) The word or phrase has been copied (¢) fRuaIE @ wog o1 Hw A Tehet foRaT TN
to the clipboard M
(d) None of the above (d) U RIS TE
86. A is a document that | 86. TH , 98 A &, S UlThad
provides a preformatted layout for text and 3t 39 % T yet & SR U Rerse it FS
graphics, as well as some content. R —— Y
(a) Wizard (a) T
(b) Template (b) TR
() Letter © &N
(d) Thumbnail (d) g
20
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87. Which among the following is not an | 87. f=feifga® @ Ha-a1 sewie TP T 7
Internet browser?
(a) Netscape Navigator (a) “ewhY Afertex
(b) Chrome (b) =
(¢) Opera (c) 3T
(d) Drupal (d g
88. Which among the following short cut keys | 88. o2 ETER@? T ITANT FHQ quY, Jd-! st Sifg |
is used to check spelling while using a ST S -ahe g e T §7
word document?
(a) F2 (a) F2
() F1 (b) F1
() " F10 (¢ F10
d F7 (d) F7
89. Microsoft® Internet Explorer and | 89. ¥FHWHE® FEWE T 3R Jee@hu® A,
Netscape® Navigator are examples of F IR |
(@) Internet browser programs (a) TTW TR NI
(b) Internet service providers (b) W Gfdg Warget
(¢) Publishing software (c)  TShTIH IR
(d) Operating systems (d) rRfT yumeh
90. are used to identify a user | 90. T ITANT, I 5 hY Yg=a o
who returns to a Website. SN AT F I 9 ST )
(a) Cookies (a) IS
(b) Plug-ins (b) wIT-39
(c) Scripts ) fore
(d) ASPs (d) ASPs
END OF PART A
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.4 INDIAN SPACE RESEARCH ORGANISATION S ET

II.

PART B

Write an essay on any ONE of the following (about 400 words) :

1. Contribution of Indian Space Programme in improving the quality of life.
2. Global warming — reasons and solutions.

3. Digital India Programme.

Write a précis on the following passage in about 150 words. Suggest a suitable title.

The test of a great book is whether we want to read it only once or more than once. Any
really great book we want to read the second time, and every additional time that we read it
we find new meanings and new beauties in it. But we cannot consider the judgement of a
single individual infallible. The opinion that makes a book great must be the opinion of many.
For even the greatest critics, are opt to have certain dullness, certain in appreciations. Carlyle,
for example could not endure Browning, Byron could not endure some of the greatest English
poets. A man must be many sided to utter off trust worthy estimate of many books. We may
doubt the judgement of single critics at times. But there is no doubt possible in regard to the
judgement of generations. If we do not at once receive anything good in a book which has been
admired and praised for hundreds of years, we may be sure that by trying, by studying it
carefully we shall at least be able to feel the ;'eason for this admiration and praise. The best of
all libraries for a poor man would be a library entirely com-posed of such great works only

books which have passed the test of time.
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L feferfed 7 & et v w s femg fafaa (400 et 3) -

1L foeft s v o gur & v sfafer som &1 avem|
2. VAUSHHI A9 — HRT 9 &

3. feforew sfozan siom

1L  Feferfea afed s e 150 weal 3 ar-ara AT (précis). 3 fore 3fera wiides o1 gama AR

@mwﬁwﬁmaﬁ%ﬂa@aﬂm@ﬁaﬁrawqaﬁﬁaﬁﬁ@?ﬁ%lﬁﬁa%ﬁmwﬁ
w1 & faefFar ot et < i et R wg e e an vef ik wited o ¥, v v et o e
ToIRT 1 e 7T S Wt €1 98 e S Ok gw @ wem s 2, I8 SIgHd <l BT =1feT, Fif ScpE
ATl st SHeh1 WY it Tl IR | I RN, s, SIS B W T W O 3k A Y
mmﬁ.w%mm%mwaﬁma@m (wafera) BT 1R %% IR g9 TTelrel %
mmmm?ﬂ%%,Wmam%mﬁaﬁ%mmwwmmlaﬁ%mwéaﬁw
T f I T G, T FH Ak TG FH Y FH I T F FROT ) T G §| e
o foru, et eaenTer e @ forai Y e 9 <t afe & iRt @
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Sen|

This then would be the most important guide for us in the choice of readings. We should res:
only the books we want to read more than once, nor should we buy any others, unless we ha:
some special reason for so investing money. The second fact demanding attention is tl
general character of the value that lies hidden in all such great works. They never become ol
their youth is immortal. A great book is not to be comprehended by a young person at the fir
reading expect in a superficial way. Only the surface; the narrative is enjoyed. No young me
can possible see at first reading the qualities of a great book. But according to a marn
experience of life, the text will unfold new meanings to him. The book that delighted us
eighteen if it be a good book will look to us different at thirty years of age. At forty we she
re-read it wondering why we never saw how beautiful it was before. At fifty or sixty years

age, the same facts will repeat themselves. A great book grows exactly in proportion to tl

growth of the readers mind.
III. Write a letter on any ONE of the following :

1. Write a letter to the inspector of the nearby police station, about the disappearance of

your younger brother.

2. Write a letter to the Chairman, State Electricity Board for continued and uninterrupte

power supply during the School/College Annual Examinations season.
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W%Wﬁmmﬁﬁﬁmmﬁmmlﬁﬁﬁwﬁﬁmw, 58 &9 q4: §7: we
=TE, 3T 31 Jereh! ) @l st sl 2, ﬁ,w&m%ﬁmmmﬂ@aﬁaﬁﬁ%ﬂwmﬁﬁﬁ
3w 1 ficftr e St g0 e e s 2, 5 Q& 7o gl o1 A qeaion Tt o e wiRE 3
I Bl &1 3 greh ot Ut et dreh, ézﬁnwmﬁ%nwwmmwmwﬁwm
mmélmmmﬁmmmﬁmﬁm%ﬁ +ft & Yo SR YRt WEH TRk
%gﬁﬁqﬁwmﬁmlwﬁs%sﬁm%a@aﬁmmﬁm—mwfmw%l 3SE Y hl 3y §
STl q&Th T MTRfT et R, %mﬁwﬁﬁaﬁ@m%lﬁlﬁﬂamaﬁwﬁwmaﬁa@aﬁﬂ%
www%ﬁaﬁﬁwqﬁmlmmmaﬁeﬁmﬁ,aﬁmaﬂuﬁm@mw,%ﬁaﬁ%
e 3 e 3 o1 i e e )

III. ﬁmﬁﬁaﬁﬁﬁm@qua%%q:

1. wﬁw%gﬁ%mém%s@aaaﬁ,mﬁsﬁuﬁ%gq@%aﬁmﬁgq%w%ﬁm

B @@/m%aﬁmqﬁmﬁ%mmﬁgawqﬁ%m,mﬁmaﬁ%mmﬁ@
= fafau)

END OF PART B
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